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1-6構造図

矩計図

小屋伏図



（固定＋積雪）=(30＋900 )×1.0=930

w ･l2 =
8

1
×930×0.751 2=65.57

w･l2=
128

9
×930×0.751 2=36.88

w･l4

l



6  N/mw =（固定＋積雪）=(60+900 )×
2

0.695+0.751
 =694.1

w･l2 =
8

1
×694.1×2.80 2 =680.2 N･m

= 128

9
×694.1×2.8 2=382.6 N･m

w･l=
2

1
×694.1×2.80=971.7 N

w･l4

l



w0= 80 N/m 2

w =86 N/m（梁自重）

l+
2

1
w･l2





w0 =80 =980 N/m 2

α= 
80

980
=12.25

∴ M =12.25×395.8+155.2=5004 N･m

  N =12.25×458.3+318.2=5932 N

δ=
I

12.25×17.14
+
I

6.834
=
I

216.8

12.25×17.14+6.834=216.8





N =-9.355×458.3+318.2=-3969 N

-9.355×17.14+6.834=-153.5δ= 
I

-9.355×17.14
+
I

6.834
=

I

-153.5








